?vée\cma 4

B o A 2
Kzl 7w BXiw BN X= - |

o e A 3
N Bon e - bxd-ex- 3 = O Mohcsdad (x#1)

Py St a3
?(—4\.—5—"% i -3 = 0O
Pk = Jox - 3bx =l
P‘\(‘*i\:*i’o + 3 -l = 0
(i

AN 7
Y= Gox - 26

PR
|)

ez o -36

A

yiil * 0

g
b) ¥ EEvs s e
L)




“\ E 2{‘2— = A = __4_?(11
T @n2)(20t) o

- (_h\u\f%
e
9,“ ‘\2 (.Of\ |?2:

o) o (n) )
Z“n.z me,

le = [ V5

I ) ()

Bt = ats , :
w4
v LM‘((M?)
-
fm i n.ﬁ-! D6 {_',cm

——

e :’"‘34 TR PR N=100

-—T

e 2 X
F b)) .

‘(2

—

1% __‘.":‘:_- -_L‘?«\?:_p/‘_ = #a
NUCER v
ey e i
Yor cHefo de
C)Olh_‘\cj(.r‘C|u
Oy = n-‘”
(m\\
Ak S

123t b
2-((;\(04&\‘.(";’3 T2 et 2304l

Y 2

4]
£33

Con &r ge
o 8 &
Yoc CeitexSo &
oo tazorn

2 g2 5



?" dolema 3

n n 5
O o e e
4 2"* (3![1*7‘) ‘znn (Sh“ 3)

I 741
L D i O U ETel
an 2?‘\ (3{‘!’15) MM

andl (.\)(.y-sﬁbmﬂ
Gn TP R e

2 (2 },)

'li"‘_*,‘m | x-5) 3421 = Ix-51 (Bni2)

o 121 ¥ 2n13l 2 {301 3)
L; Lam l_F———X-Sl (Bot2) < l)('-S] Lien St - :,—211_ = A

N N
Leqd -8) ¢ 4 —> b5l e 2

2
w2 & X=5 &2 Bl Pndervale ge :onuctjcr.c‘?a abalda es (3,3)

-

N MW LT



Of ch\uu |u
i e (%5)”
L (3{\"2)
q"ﬁ 20
= (4
Y

Scefee

en X=23
x> %

X (- ‘\)‘\ ( _,Z)“

Rk i (2ert2)

(i',on\}c(zf, o Coro

.z (04"
: P (Brt2d




